

Kenwood Avenue Cost Estimate (Bid)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
12 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	38.00	LF	\$134.00	\$5,092.00	
15 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	173.00	LF	\$160.00	\$27,680.00	
18 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	203.00	LF	\$178.00	\$36,134.00	
24 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	245.00	LF	\$200.00	\$49,000.00	
30" SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	36.00	LF	\$278.00	\$10,008.00	
Type 4 INLET BOX WITH MANHOLE TOP	1.00	EA	\$6,500.00	\$6,500.00	
STANDARD INLET BOX WITH MANHOLE TOP	2.00	EA	\$5,000.00	\$10,000.00	
STANDARD INLET BOX WITH TYPE M TOP AND STANDARD GRATE	4.00	EA	\$5,500.00	\$22,000.00	
STANDARD INLET BOX WITH STEEL INLET FRAME AND GRATE	1.00	EA	\$5,000.00	\$5,000.00	
STANDARD INLET BOX WITH TYPE C TOP AND STANDARD GRATE	3.00	EA	\$6,000.00	\$18,000.00	
TYPE D-W ENDWALL	1.00	EA	\$5,500.00	\$5,500.00	
2A AGGREGATE	250.00	TON			*Included with Pipe Total
AASHTO #57 AGGREGATE	250.00	TON			*Included with Pipe Total
R-5 RIP RAP	30.00	TON			*Included with Endwall Total
CLASS 4, TYPE A GEOTEXTILE	23.00	SY			*Included with Endwall Total
TEMPORARY PAVING	20.00	TON	\$332.00	\$6,640.00	
LANDSCAPE RESTORATION	1.00	LS	\$3,704.00	\$3,704.00	
Materials Total				\$205,258.00	
Project Subtotal				\$205,258.00	
5% Contingency				\$10,262.90	
Project Total				\$215,520.90	

Tyler Drive Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
18 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	501.00	LF	\$178.00	\$89,178.00	
24 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	90.00	LF	\$200.00	\$18,000.00	
STANDARD INLET BOX WITH MANHOLE TOP	1.00	EA	\$5,500.00	\$5,500.00	
STANDARD INLET BOX WITH TYPE M TOP AND STANDARD GRATE	8.00	EA	\$5,500.00	\$44,000.00	
TYPE 4 INLET BOX WITH TYPE C TOP AND STANDARD GRATE	4.00	EA	\$6,500.00	\$26,000.00	
2A AGGREGATE	200.00	TON			*Included with Pipe Total
AASHTO #57 AGGREGATE	185.00	TON			*Included with Pipe Total
TEMPERARY PAVING	20.00	TON	\$332.00	\$6,640.00	
LANDSCAPE RESTORATION	1.00	LS	\$3,704.00	\$3,704.00	
Materials Total				\$193,022.00	
Project Subtotal				\$193,022.00	
5% Contingency				\$9,651.10	
Project Total				\$202,673.10	

Devonshire Heights Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
15 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	292.00	LF	\$160.00	\$46,720.00	
18 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	409.00	LF	\$178.00	\$72,802.00	
STANDARD INLET BOX WITH TYPE M TOP AND STANDARD GRATE	7.00	EA	\$5,500.00	\$38,500.00	
STANDARD INLET BOX WITH STEEL INLET FRAME AND GRATE	4.00	EA	\$5,000.00	\$20,000.00	
TYPE D-W ENDWALL	2.00	EA	\$5,500.00	\$11,000.00	
2A AGGREGATE	270.00	TON		\$0.00	*Included with Pipe Total
AASHTO #57 AGGREGATE	270.00	TON		\$0.00	*Included with Pipe Total
R-5 RIP RAP	42.00	TON		\$0.00	*Included with Endwall Total
CLASS 4, TYPE A GEOTEXTILE	36.00	SY		\$0.00	*Included with Endwall Total
TEMPERARY PAVING	40.00	TON	\$332.00	\$13,280.00	
LANDSCAPE RESTORATION	1.00	LS	\$3,704.00	\$3,704.00	
Materials Total				\$206,006.00	
Project Subtotal				\$206,006.00	
5% Contingency				\$10,300.30	
Project Total				\$216,306.30	

Crumbs Mill Road Culvert at Laraby Drive Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
36" SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	41	LF	\$380.00	\$15,580.00	
18" SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	37	LF	\$178.00	\$6,586.00	
STANDARD INLET BOX WITH TYPE M TOP AND STANDARD GRATE	1	EA	\$5,500.00	\$5,500.00	
STANDARD INLET BOX WITH TYPE M TOP AND STEEL INLET FRAME AND GRATE	1	EA	\$5,000.00	\$5,000.00	
TYPE D-W ENDWALL	1	EA	\$5,500.00	\$5,500.00	
2A AGGREGATE	45	TON		\$0.00	*Included with Pipe Total
AASHTO #57 AGGREGATE	40	TON		\$0.00	*Included with Pipe Total
R-6 RIP RAP	15	TON		\$0.00	*Included with Endwall Total
CLASS 4, TYPE A GEOTEXTILE	10	SY		\$0.00	*Included with Endwall Total
TEMPERARY PAVING	10	TON	\$332.00	\$3,320.00	
LANDSCAPE RESTORATION	1	LS	\$3,704.00	\$3,704.00	
Materials Total				\$45,190.00	
Project Subtotal				\$45,190.00	
5% Contingency				\$2,259.50	
Project Total				\$47,449.50	

Crums Mill Road at Commerce Drive Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
24 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	84	LF	\$ 200.00	\$16,800.00	
18 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	340	LF	\$178.00	\$60,520.00	
STANDARD INLET BOX WITH TYPE C TOP AND STANDARD GRATE	5	EA	\$ 6,000.00	\$30,000.00	
Type 4 INLET BOX WITH TYPE M TOP AND STANDARD GRATE	3	EA	\$ 6,500.00	\$19,500.00	
TYPE D-W ENDWALL	1	EA	\$5,500.00	\$5,500.00	
2A AGGREGATE	160	TON		\$0.00	*Included with Pipe Total
AASHTO #57 AGGREGATE	150	TON		\$0.00	*Included with Pipe Total
R-6 RIP RAP	51	TON		\$0.00	*Included with Endwall Total
CLASS 4, TYPE A GEOTEXTILE	32	SY		\$0.00	*Included with Endwall Total
TEMPERARY PAVING	24	TON	\$332.00	\$7,968.00	
LANDSCAPE RESTORATION	1	LS	\$3,704.00	\$3,704.00	
Materials Total				\$143,992.00	
Project Subtotal				\$143,992.00	
5% Contingency				\$7,199.60	
Project Total				\$151,191.60	

Old Locust Lane Cost Estimate (BID)					
Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
Standard Concrete Box; Type M top; Steel Grate and Frame	1.00	EA	\$6,500.00	\$6,500.00	
Type D-W Endwall	1.00	LS	\$11,040.00	\$11,040.00	*2 Endwalls
8" PVC Pipe	250.00	LF	\$65.00	\$16,250.00	
18" SLCPP	76.00	LF	\$260.00	\$19,760.00	
38" X 60" RCP	1.00	LS	\$18,125.04	\$18,125.04	*32 LF of pipe
R-5 Rip Rap	16.00	TON	\$260.00	\$4,160.00	
R-4 Rip Rap	21.91	TON	\$205.00	\$4,491.55	
2A Stone	21.81	TON	\$92.59	\$2,019.39	
2B Stone	54.01	TON	\$102.59	\$5,540.89	
Temporary Paving	18.00	TON	\$332.00	\$5,976.00	
Landscape Restoration	1.00	LS	\$3,704.00	\$3,704.00	
Class 2 Type A Geotextile	1.00	LS		\$0.00	*Included with Endwall Total
Materials Total				\$97,566.86	
Project Subtotal				\$97,566.86	
5% Contingency				\$4,878.34	
Project Total				\$102,445.21	

Oak Avenue Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
12 " SMOOTH LINED CORRUGATED POLYETHYLENE PIPE	121.00	LF	\$134.00	\$16,214.00	
STANDARD INLET BOX WITH TYPE M TOP AND STANDARD GRATE	3.00	EA	\$5,500.00	\$16,500.00	
2A AGGREGATE	30.00	TON		\$0.00	*Included with Pipe Total
AASHTO #57 AGGREGATE	25.00	TON		\$0.00	*Included with Pipe Total
R-3 RIP RAP	1.00	TON	\$208.00	\$208.00	
CLASS 4, TYPE A GEOTEXTILE	10.00	SY	\$1.91	\$19.10	
TEMPORARY PAVING	5.00	TON	\$332.00	\$1,660.00	
LANDSCAPE RESTORATION	1.00	LS	\$3,704.00	\$3,704.00	
Materials Total				\$38,305.10	
Project Subtotal				\$38,305.10	
5% Contingency				\$1,915.26	
Project Total				\$40,220.36	

Wilshire Cost Estimate (Emergency Contract)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
2 1/2" Schedule 40 PVC Pipe	5.00	LF	\$14.26	\$71.30	
2 1/2" Schedule 40 PVC Repair Couplers	2.00	EA	\$3.58	\$7.16	
2A Aggregate	2.00	TON	\$15.45	\$30.90	
Temporary Paving	1.00	TON	\$62.24	\$62.24	
Materials Total				\$171.60	
Labor					
MOBILIZATION	1.00	DAY	\$10,000.00	\$5,000.00	
PROJECT LABOR - INCLUDING EQUIPMENT	1.00	DAY	\$7,016.00	\$7,016.00	
Labor Total				\$12,016.00	
Services Provided By Others/Rentals					
Services Provided By Others/Rentals Total				\$0.00	
Project Subtotal				\$12,187.60	
5% Contingency				\$609.38	
Project Total				\$12,796.98	

Dorchester Cost Estimate (BID)

Item Description	Estimated Quantity	UOM	Unit Price	Total Price	Notes
Materials					
8" SDR 35 PVC	180.00	LF	\$65.00	\$11,700.00	
2A Stone	120.00	TON	\$92.59	\$11,110.80	
2B Stone	110.00	TON	\$102.59	\$11,284.90	
Temporary Paving	13.00	TON	\$332.00	\$4,316.00	
Materials Total				\$38,411.70	
Project Subtotal				\$38,411.70	
5% Contingency				\$1,920.59	
Project Total				\$40,332.29	

Overall Total for 2024	
	\$1,028,936.23
Cost per Foot (3,121 LF)	
	\$329.68

Overall Total for 2024
\$1,028,936.23
Cost per Foot (3,121 LF)
\$329.68

Overall Total for 2024	
	\$1,028,936.23
Cost per Foot (3,121 LF)	
	\$329.68

Overall Total for 2024
\$1,028,936.23
Cost per Foot (3,121 LF)
\$329.68

Overall Total for 2024
\$1,028,936.23
Cost per Foot (3,121 LF)
\$329.68